

Folds Walker, LLC

527 E University Ave Gainesville, FL 32601 US kim@foldswalker.com www.foldswalker.com O: 352-372-1282

Bill To:

CITY OF LAKE CITY

INVOICE

Number	2003
Issue Date	10/3/2023
Matter	668900 - GENERAL REPRESENTATION
Email	taylora@lcfla.com



Time Entries

Time Entries	Billed By	Rate	Hours	Subtotal
9/1/2023 Telephone conference with ALJ regarding public records requests	Danielle C. Adams	\$170.00	0.30	\$51.00
9/1/2023 Review letter from TJK regarding park ordinance; review and approve of revisions to Park Ordinance	Danielle C. Adams	\$170.00	0.30	\$51.00
9/4/2023 Review correspondence from TJK regarding Park Ordinance; review TJK's revisions to Park Ordinance; respond to ALJ regarding the same	Danielle C. Adams	\$170.00	0.30	\$51.00
9/4/2023 Review HB 657 regarding cameras in school zones; review email correspondence from TJK regarding same	Danielle C. Adams	\$170.00	0.70	\$119.00
9/5/2023 Telephone conference with TJk regarding procurement	Danielle C. Adams	\$170.00	0.40	\$68.00
9/5/2023 Telephone conference with TJK regarding wording of motions; review language for motions	Danielle C. Adams	\$170.00	0.30	\$51.00
9/6/2023 Telephone conference with Councilman Jernigan regarding decorum at meetings	Danielle C. Adams	\$170.00	0.30	\$51.00
9/6/2023 Review draft agenda; attend agenda prep meeting	Danielle C. Adams	\$170.00	1.30	\$221.00
9/6/2023 Telephone conference with ALJ regarding concerns from Councilmembers	Danielle C. Adams	\$170.00	0.20	\$34.00
9/8/2023 Review email from Audrey regarding FDRAP grant	Danielle C. Adams	\$170.00	0.10	\$17.00

I-2003 Page 1 of 4

Time Entries	Billed By	Rate	Hours	Subtotal
9/8/2023 Review interlocal agreement from county; provide proposed edits to TJK with reasoning for same	Danielle C. Adams	\$170.00	0.80	\$136.00
9/8/2023 Review and respond to email correspondence from Councilman Sampson regarding decorum at meetings; request decorum policy from Audrey; review policies of other cities and statutes governing the same	Danielle C. Adams	\$170.00	1.00	\$170.00
9/10/2023 Review email regarding Shannon Williams price to City per grant written	Danielle C. Adams	\$170.00	0.10	\$17.00
9/10/2023 Review Memorandum of Agreement between Department of Corrections and Police Department; provide feedback to ALJ	Danielle C. Adams	\$170.00	0.30	\$51.00
9/10/2023 Review email forwarded by Audrey Sikes, originally from Sylvester Warren calling for termination of city clerk and city attorney	Danielle C. Adams	\$170.00	0.20	\$34.00
9/11/2023 Draft Ordinance Implementing Requirement for Business Impact Estimate	Danielle C. Adams	\$170.00	0.80	\$136.00
9/11/2023 Telephone conference with TJK regarding P&Z Meeting Agenda items	Danielle C. Adams	\$170.00	0.40	\$68.00
9/12/2023 Office conference with TJK regarding decorum, public comment after motions, and various items on the P&Z Agenda	Danielle C. Adams	\$170.00	2.00	\$340.00
9/12/2023 Prepare for and attend P&Z, BOA, and Historic Board meetings	Danielle C. Adams	\$170.00	1.60	\$272.00
9/13/2023 Draft revisions to the Decorum section of the code	Danielle C. Adams	\$170.00	0.30	\$51.00
9/13/2023 Review letters from Sylvester Warren to Florida Commission on Ethics regarding Stephen Witt, Todd Sampson, Audrey Sikes, and Rickey Jernigan; telephone conference with KNB regarding the same	Danielle C. Adams	\$170.00	1.30	\$221.00
9/15/2023 Telephone conference with Audrey Sikes regarding council raises, street designation, and complaint; telephone conference with TJK regarding the same	Danielle C. Adams	\$170.00	0.80	\$136.00
9/18/2023 Draft Ordinance adopting decorum policy updates	Danielle C. Adams	\$170.00	0.60	\$102.00
9/18/2023 Telephone conference with ALJ regarding economic impact statements	Danielle C. Adams	\$170.00	0.30	\$51.00
9/18/2023 Telephone conference with TJK regarding amending code to specify time on public comment following a motion	Danielle C. Adams	\$170.00	0.30	\$51.00
9/18/2023 Email correspondence with City regarding implementation of business economic impact statements training	Danielle C. Adams	\$170.00	0.10	\$17.00
9/18/2023 Revise ordinance on decorum to include update to 2-43 of the City Code by providing clarity on the time for public comment following a motion	Danielle C. Adams	\$170.00	0.40	\$68.00
9/19/2023 Telephone conference with TJK regarding public comment and town hall proposal	Danielle C. Adams	\$170.00	0.30	\$51.00

I-2003 Page 2 of 4

Time Entries	Billed By	Rate	Hours	Subtotal
9/19/2023 Telephone conference with TJK regarding employment agreement provisions	Danielle C. Adams	\$170.00	0.20	\$34.00
9/19/2023 Telephone conference with TJK regarding public comment after motions	Danielle C. Adams	\$170.00	0.40	\$68.00
9/19/2023 Telephone conference with TJK regarding COA 23-31	Danielle C. Adams	\$170.00	0.20	\$34.00
9/19/2023 Telephone call with DCA and research regarding FEMA impacts on contracts	Kiersten N. Ballou	\$170.00	0.50	\$85.00
9/20/2023 Review resignation letter from Paul Dyal; review email correspondence from Audrey regarding resolutions to accept resignation and appoint interim city manager; revise title of resolution accepting resignation; review resolution appointing Paul Dyal as City Manager; draft aforementioned resolutions	Danielle C. Adams	\$170.00	1.20	\$204.00
9/20/2023 Review Paul Dyal's employment contract; telephone conference with TJK regarding severance provision	Danielle C. Adams	\$170.00	0.50	\$85.00
9/20/2023 Telephone conference with ALJ regarding Paul Dyal resignation and resolutions	Danielle C. Adams	\$170.00	0.30	\$51.00
9/22/2023 Telephone conference with Audrey Sikes regarding public records compliance	Danielle C. Adams	\$170.00	0.20	\$34.00
9/25/2023 Telephone conference with TJK regarding subpoenas	Danielle C. Adams	\$170.00	0.20	\$34.00
9/25/2023 Prepare for and attend agenda prep meeting	Danielle C. Adams	\$170.00	2.00	\$340.00
9/26/2023 Telephone conference with ALJ regarding Business Impact Estimates	Danielle C. Adams	\$170.00	0.30	\$51.00
9/26/2023 Review Letter from Farah and Farah regarding Kailay Simmons; review letter from Morgan and Morgan regarding James Gibson	Danielle C. Adams	\$170.00	0.40	\$68.00
9/27/2023 Review and respond to email from Robert regarding telephone conference for quasi judicial hearing	Danielle C. Adams	\$170.00	0.10	\$17.00
9/27/2023 Review and respond to email from Marshall Rainey regarding David DePew no longer being City's expert at Circle K hearing	Danielle C. Adams	\$170.00	0.30	\$51.00
9/27/2023 Telephone conference with Audrey Sikes street renaming policy and procurement policy	Danielle C. Adams	\$170.00	0.40	\$68.00
9/27/2023 Review City Code regarding street signs; research other cities with similar policies; draft honorary street name policy; telephone conference with TJK regarding same and provisions contained therein	Danielle C. Adams	\$170.00	1.00	\$170.00
9/29/2023 Zoom conference with TJK regarding Paul's contract and resignation	Danielle C. Adams	\$170.00	0.40	\$68.00
		Time Entries Total	24.40	\$4,148.00

I-2003 Page 3 of 4

Total (USD)	\$4,148.00
Paid	\$0.00
Balance	\$4,148.00
Total Outstanding	\$4,148.00

Terms & Conditions

DUE AND PAYABLE UPON RECEIPT. SUBJECT TO 1% PER MONTH FINANCE CHARGE AFTER 30 DAYS.

In the event the balance of this invoice is submitted for collection, the Plaintiff shall be entitled to a reasonable attorney's fee and costs.

Timekeeper Totals

Name	Rate	Hours	Total
Danielle C. Adams	\$170.00	23.90	\$4,063.00
Kiersten N. Ballou	\$170.00	0.50	\$85.00

Trust Account Balance

Date	Item	Amount	Balance
10/12/2023	Current Balance		\$0.00



I-2003 Page 4 of 4